grt2

A6 HFE HIHEWRL

HHEE

LU N A

U ) 1 = AT Mo /A A G 3 1B S5 SR SO 3605 | 2t 32
RMFEE~OET Y v 7 OEE

- T v — NRAEO I

BH6F6 A~BFT7T4 3 A FRT V7 — b

hE A7 v r— b

08 = R 2 =F f NZFAFET v r— b

§C Eﬁ%uﬁa®ﬁﬁ1ﬁ

PrfEm] P R i

- AMeEETHRE (B)

o T )1 =GR Hi ek 2 A5 2 2 5 T R R ZS2E | 1T oW
%1 8] AF064E 4 ] 25 A i) B BN HE A E R R 2R 1T

MR —E X (@A EER) FHEICONT

< B0 5 = I N AR PRI
« MA@ R B O R EIZ OV T
FHHEIE 2
7 > — FREDOFEIZOWT

%2 [ Af64 11 H 8 H

FAERH N TN 6 £ HUIE NS AR B e RAE R L R T O
T THLH 1T H "
(- Brfee) FHEFAMHIZ DN T

- HUR AL AW FH B DR E LT DN T
7 o — MR RIZ DWW T
HFRIZONT

SR TEER Y 2—ZHONT

% 310H SMT7TH43H6H




SHOEEMIIZHET B AR RBESFRES

1A (B4 [
s = E PuE REEE =3 55

1 &iEe =i =i 6, 934, 000 6, 934, 000 0 |[HIN=4ETEXEGES

2 W |1 BHL 1wy 500, 000 500, 000 0 oz EREEREEELEYS

3 @mEe |1 BEL |1 BEs 0 0 0

4  FEUXA A MA 0 2,455 2,455 |FI B

mEASE 7, 434, 000 7,436, 455 2,455

2. mH

: & N Tun REE =@ 55
E-t E-t 74, 000 20, 000 -54,000 | & #REN
1 EEE
2 BBE |1 EHE 37,000 52, 952 15,052 |ENMERLEE. SRATMON . BDXHE
6, 800, 000 6, 776, 000 -24,000 | BEETEIERERAEERZTE
2 BEB |1 BEE |1 B2B = ek
500, 000 500, 000 0 |ED#HBIE D EBT~NRE
3 FEE FinE FinE 23,000 0
A= 7, 434, 000 7,348, 952 -85, 048
BAREAHE 7, 436, 455
BHAEAE 7,348, 952
®E 87, 503 87,503 M IIXRFEICHEYBLET,




SHeFEEMIZMENMB AR R BERBOREICTOVTEE
XL, BREFEEFELLGR. GEICREBShTNSIE
EHRELFET.

77 & { ASpH

M =T s H R B =S

=)
BE /ﬂ N T%]@d@
EE M AP D



BRTHS A~Sf 84 3 H

LIS A S R N ETE Y el AN e
CHEEE 7Y 7 O
< T =HPRT HUs A A A w AT # (5R) DOFFERK
TV w7 aky NOFE
o T =BT M ds /8 I AZ S8 F i) 00 3R
s NI AR E OER, AR

AL 18

/K\uﬁa@ﬁﬁ1ﬁ

PrfEm]

P R

SRT4E6 H 23 A

s B SEIZ DWW T

- RN 6 AR E WS B K OREHRE

- B0 6 S EE A

<A T REEGE () BIOSMTRETE
s A 2 =T 4 N AFERRE

o )1 =0T Hse A H A2 E DU T

SRTA9AH

o 7)1 =R RT Ml /A HAS W@ EF 2 DU T
c RXT ) w7 ak s FOEREIZHOVWT
AR B AT DUN T

ASMTHE11L A

T Z 9007 Jiudsl 2N He 28 8@ 5 Hmj iz > ¢
/A SR T T eI ANE

554 [A]

S84 2 A




STIEEHZMETHBALIERZTHE ()

A (Bfz - 1)
z 15 B o] Bl
8EE |1 AEE 1 &#EF 8,125,000 |MI=MATEXERER
HEE |1 MmEE |1 MR 0 |#BIE
BrEE |1 Bus 1 g 87,503 |RIFEEA b DHEHL
A |1 A 1 A 1,000 |FIF%
mAGE 8,213, 503
z 15 B po] st A
1 =& 1 2BE 74,000 |¥REM%
EEE
2 EBE 1 E%E 37,000 (#R:AFHk., Exd, EHRAF
EBEXE |1 BEE 1 EXE 7,988,000 |RBEEIFEREXFERIRE
FiHE |1 FHEE 1 FPiHE 114, 503
M aEt 8,213, 503
REOFRN EXEBE
o, | xERE
R ISR
FERT
=AY




